oa )cm

=
<
N

................

...........................

0.95H

3

a0 d ) (cm)

-
<
i

= !
i e e e

0.95

—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2
—+— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL3

o©p_/p)

=) 5
© LS R SRS SRS OO SUNUURU oY FOUSR
S :
ST I S . AR I R MO
+
O 10_% ! 111 1 1 + 1 1 111 + 1 11 + 11 1 1 11 1 1 11 1
= 5 5 |
© [ : : ]
o L: : : ]
M1 StRk SEERREE Beeeee- S R e b EEEEEEEEE S EREEEEE E = 2 o
oostidl i A1 ] :
-3 -2 -1 0 1 2 3

TP ® (PCA to beamline)

-1

0

1 2

3

TP ® (PCA to beamline)



	Contents
	Page 1


